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Number of Questions to be attempted : 45

Section Marks : 75
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109346
Question Shuffling Allowed : No

Question Id : 9741093121 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 20)
Question Label : Comprehension

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

Note:  In questions numbered from 1 to 20, a question 1s followed by data in the form
of two statements labelled as (I) and (II). You must decide whether the data
given i the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) If the statement (I) alone is sufficient to answer the question, but (IT) can’t give
the answer Mark your choice (1).

(b) If the statement (II) alone 1s sufficient to answer the question, but (I) can’t give
the answer Mark your choice (2).

(¢) Ifboth the statements (I) and (II) are sufficient to answer the question but neither
statement alone 15 not sufficient mark your choice (3)

(d) If both the statements (I) and (II) together are not sufficient to answer the

question and additional data are required, mark your choice (4)
arad: 1 ook 20 S08 @ 9O @%;Lem: we @), @ Gois (1), (II) & en fie
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Jod Baboc..

(a) Qﬂfﬁ RATEEI0 @iﬁaocﬁje‘a poode () ardd D00 m
hmTéibésﬁsﬁﬁﬁ 2 aaren (1) m mHBocod.

0) 2HD drede ehome Padde () argd dwgdon, O 3
ﬁmGéﬁbésﬁgﬁ@ 20 @aren (2) m hoced.

(©) 3D daredo 2o Haedo (D), (I) £ dorjRvon wome’ J 248
EFT D00 ST 2 aaren (3) e Boctod.

(d) @?lg“) RATEF0 @Eﬁhoméj 2550 (1), (1) 90 sre DO7R0 58 I BErodo
020 2 aaeen (4) ™ MBodol.



Sub questions

Question Number : 1 Question Id : 9741093122 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

What 1s the area of the cirele?

8 PFTVI0 Jod?

(I) The perimeter of the circle 1s b4mem.
&3 B0 A0S, HOB 541 Do.a.

(I) The area of the triangle inscribed in the circle 1s 365 sq.cm.
&3 ,83065° e9000DB 2 Grbaro PTJ0 365 . 0.,

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 2 Question Id : 9741093123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT03 DU



Find the digit i units place of the natural number n, where 62 < n < 83.

62 < n < 83, eoady N D Virw Doy BNE) wEY gvxm 5°) €908 Sé}%‘boé.

(I) nisamultiple of 12
1 ed8 12 ding) 8 foeszo.

(I) n gives remainder 2 when divided by 7.
N 7D erfodm .:mg 0 2.

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 3 Question Id : 9741093124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

What 15 the sum of marks obtained in Physics and Chemistry by Ram?

FAE TR0 B0 T aDAE TPowe” Traw Todd Ardy e Ango Jod?

(I) Ram got 8 marks more in Physics than in Chemistry.
GPaDIE TRoY’ 59 TEE TR0’ T § AP en &Y S ToBR.

(I) Ram got 72 marks average in Physics and Chemistry.
a8 B0 6FaHAE PO’ T AN 72 AP e ToB.

Options :
1. %1
2.9 2
3.%3



4. % 4

Question Number : 4 Question Id : 9741093125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ07 DTV

What 1s the cost of erecting a fence around a rectangular field?

B BB00FS0R) 80 HRT £03 DoEIS eahy DY Joed?

(I) The cost of fencing 1s Rs.150 per meter.
08 DI Ko DOLLL) aD] DAY AP.150.

(IT) The area of the field 1s 20000 sq. meters.
&5 £g0 O, PFrego 20000 ..

Options :
1. % 1
2. % 2
3.%3
4.¥ 4

Question Number : 5 Question Id : 9741093126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GTF03 DU



What 1s the sumple mterest earned by the depositor on a fixed deposit?

oo d0Erd) D5E Carat T T S0 53 AR Tod et HG Jot?

(I) The deposit 15 kept for one year.
€2 QTP 2,8 W00 T'EDSIW.

(II) The amount deposited 1s Rs.10000.
£3 ST DY) Ao Ar.10000.

Options:
1. % 1
2. %2
3.%3
4.9 4

Question Number : 6 Question Id : 9741093127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G0 DU

Are the roots of the equation 4ax? + 5bx + 6¢ = 0 real numbers?

4ax” + 5bx + 6¢ = 0 DDEGER0 GINE), QPN TR VoD EoLr?

i ahec=23:4

(L) a+b+c=27

Options :
1.1
2. %2
3.%3
4, % 4



Question Number : 7 Question Id : 9741093128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ0T DU

What 1s the volume of the right circular cone?

€3 5a0 yIr5 0 3050 031}5& 20 BTV

(I) Semu vertical angle of the cone 15 307,
&5 050 CIVE), %g»g &0 30°.

(IT) Slant height of the cone is 17em.
€5 3055 AIVE), TeNBBD 17 Do.ab.

Options :
1. % 1
2. % 2
3.¥3
4, % 4

Question Number : 8 Question Id : 9741093129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS



Find the average of 10 numbers. written in ascending order.

esfares Sa00e)” 070 10 doaxje WIitD SR‘D%&E}G&.

(I)  The average of first four and the last four together of these 1s 20.

AV Frenr 080 wad arenth “n}OaJIS'E'_J‘ wien 20.

(I)  The sum of middle two numbers 1s 15.

.:m:;aa {ie) ot ?Q)OQJ?SH) aého 15.

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 9 Question Id : 9741093130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G0 DU

What 1s the mode of the frequency distribution?

€3 A RDRDRI DeT°eud0 TIE), EFTVFED Joed ?

(I) The total number of observations 1s 100.
2o HBIVDHO Doy 100,

(II) The median of the distribution 1s 68.43.
23 DT &m0 cﬁnéa} &‘J.J{;‘b?gﬁ@o 68.43.

Options :
1. % 1



2. % 2
3.% 3
4.9 4

Question Number : 10 Question Id : 9741093131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G0 DU

What 1s the number of persons between two persons A and B in a row of 29 persons?

28 SO 29 DEre AGm aERr0 4, Be 06 (1) S55R) Doa) Jot?

() A is 24% person from the beginning.
200 Awoc. 24 & 58 A.

(I) B is 19® person from the end.
DB00¢ 19 3 4 B.

Options:
1. %1
2. %2
3.3
4, % 4

Question Number : 11 Question Id : 9741093132 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ0T DT[N



If an empty tank 1s filled by two pipes A and B. then what 1s the time taken to fill the tank by
the pipe A alone?

& ard 89 Toco fgren A oboin B en dowd, FI Joded3 Fgpo A 28,8 S5
2010 oeh?

(I) A alone fills it in 5 hours faster than does the pipe B.
fitJo B 53) A 28) 6 2,000 5 flotsed 850 RDAD0ESA TPAY DoDI.

(I) B fills 1i of the tank 1n 1 hour.

w8 tfotaes’ B, o3 e‘ﬁ’@e‘iﬁ i&‘) TR & Aodri.

Options :
1. % 1
2. %2
3.+¥3
4. % 4

Question Number : 12 Question Id : 9741093133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT03 DU

For positive integers @ and b. is Va? + b? an integer?
a S0B010 b 09D GIYPE DoafR VaZ + b w8 Qrg Doay Ben:?
(I) a2+ b? is an integer.

p 2 - ”
as+ b a8 RPg 0.

() a®-24b%=0

Options:
1. %1
2.¥ 2



3. % 3
4. % 4

Question Number : 13 Question Id : 9741093134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

In how many days 8§ men and § women together can complete the work?

8 2006 dnpen. 8 od Hew 50N & DA Ak Bevee)” Qrd dobriod?

(I) 4 men or 6 women can complete that work in 10 days.
93 DI HH YWD For b gen 10 Saed® Hridaniom.

(II) 4 men and 6 women together can complete that work in 5 days.
03 DAY DM WOV BA BHH Dew &N 5 Bwe

Y A1)

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 14 Question Id : 9741093135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ07F DT



Is n a natural number?

n 28 Daees ?i:roajtg edaE0or

[ = e 2
(I) ”:( 3+V5 35 )

—
ﬁ+ '.,"3+\-"§ \-E— '.,"3—\-"§
(I) n? is a positive integer.

n? w8 G QPG Roady.

Options :
1.1
2. % 2
3.%3
4, % 4

Question Number : 15 Question Id : 9741093136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

What 15 the measure of the angle x 1 the adjacent figure?

g, 262065 Eg30 ¥ Dewed Joed? A \x B

D =80°

(I) The straight lines AB and CD are parallel.
~0¥02e0 AB, CD en Rarodore.

Options:
1. %1
2. %2



3.4 3
4. % 4

Question Number : 16 Question Id : 9741093137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

How many brothers does Githa have?

fied £ Doedaod SToen gerd?

(I) Ramu has two sisters and no brothers.
T QM TFoddurmen Som st Fomen Jw.

(II) Raita. one of Ramu’s sister, has only one sister Githa.
Te) 03 28 e eond Bertd D38 F'ed Hie.

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 17 Question Id : 9741093138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ07 DTV



In a group of 30 students. 18 are enrolled in English and 16 are enrolled n Mathematics,
How many are enrolled in both English and Mathematics?

302008 DTYERD 10 28 DAFPS” 182006 esofjors” 2B 16 od riceoes” HAP

5‘&1)535}‘1{&). Do d0od eoffo dvBOLD ricdeo BocotdeS AP HArchy 5‘&1}&‘.)@“&&}?

(I) 20 students are enrolled in exactly i one of these two subjects.
20 008 djHeD & Tod VPHOS’ VP 25T ArED AW

::S“m&‘.m“lm.

(I) 3 students are not enrolled 1 either of these subjects.
3t Dejdoen & Focoe” BIS P SArc SET.

Options :
1.9 1
2. %2
3.%¥3
4, % 4

Question Number : 18 Question Id : 9741093139 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ0T DU



Five friends A,B,C,D and E stand 1n a line for a photograph in some order. Who 1s the
nuddle one?
WY G008 PEorMm dogden 4,B,C,D ndoin E en wé TETrD S wd e’

:Jmm:?‘lm. mcjﬁb c-,:_ﬁ& Jah?

() B 1s fourth from the right end and immediate left to C.

G W0 Aot TR &J5§ B anboin e9escd €& E‘JR}SOE.)?J D Qﬂbé
ea";]_d).

(I) D 1s neither neighbour to A nor B.
A% ?QSE]K) ™), BS ‘QQ?JR‘)H“R’J D &co.

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 19 Question Id : 9741093140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ0T DT[N

Is the positive integer a divisible by 357

G Qg Wo§ a, 359 :J%;{'._‘{DTT“ arfiom excoedo?

(I) a is divisible by 15.
153 a Kjég::lon“ 2o BCOa00.

(II) a 1s divisible by 14.

143 a Kjé;jﬁ‘.qun" rfiocd eCOE008.



Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 20 Question Id : 9741093141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

If the sentence ‘They are fine’ 15 called as “Lit monk Zip’, then which code word stands for
‘fine’?

‘They are fine’ & a5y “Lit monk Zip’ e 28R, ‘fine’ & §E deso 28?

(I) Inthe same code language ‘You are fine’ 1s coded as ‘Zip monk Cat’.
03 EC arad)” You are fine’ & ‘Zip monk Cat're &E 300.

() Inthe same code language ‘They are rich’ s coded as ‘dog Lit zip’.
o033 §€ e’ ‘They are rich’ & ‘dog Lit zip” tr §& 3.

Options :

1. %1

2. % 2

3.3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 974109347
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9741093142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEED



RSab : STed :: TUvw :

Options :

VUxy

UVxy

VUxy

uVab

Question Number : 22 Question Id : 9741093143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘A)E}J.ﬂ“@ AT
A. Series (Analogies/a:b::c:d relationships) BEAED

4DH : 9LP :: : 14ANR

Options:
9FEI

1. %
9FK
9F7
9PQ

Question Number : 23 Question Id : 9741093144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&‘.}J.ﬂ“@ ALY

A. Sertes (Analogies/a:b::c:d relationships) Feaew
URW:21 @ 23 ::LOM :
Options :

| % 11812

5, 13®11

5 x 13012

1213
4. &

Question Number : 24 Question Id : 9741093145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘A)E}J.ﬂ“@ AT
A. Series (Analogies/a:b::c:d relationships) Feaew
7 77 143
6 42 " 56
Options :
26
1. %
247
£21
72
3.¢



65
18

Question Number : 25 Question Id : 9741093146 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&1)3“6 AT

A Series (Analogies/a:b::c:d relationships) PELED
ABC : ZYX :: DEF:

Options :

Uvw
1. %

WVU

VWU

Uwv

Question Number : 26 Question Id : 9741093147 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘&)&3}3‘5 FSD
A Series (Analogies/a:b::c:d relationships) PEAED
BEYOND:  :WOULD:TLRIA
Options :
YCWKLA
1. %

 YAUIMA
2. %



3 ¢ YBVLEKA

YDXNPA

Question Number : 27 Question Id : 9741093148 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&‘.}Jﬂ“@ F3

A Series (Analogies/a:b::c:d relationships) PEED

LAKES : PEOIS :: : QIEX7
Options :

TEAMA4

TAME4

MATE4

MEAT4
4. ¢

Question Number : 28 Question Id : 9741093149 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&1)3“6 AT

A. Series (Analogies/a:b::c:d relationships) BEAEL)

: PEQT : JUMP : NYQT

Options:

AMPL



ALMP

LIMP

LAMP

Question Number : 29 Question Id : 9741093150 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘:’06&.‘:3‘5 D

A. Sertes (Analogies/a:b::c:d relationships) BEALED
(B)Z : 27)Y =:: (61)B -

Options :

Question Number : 30 Question Id : 9741093151 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘6 R TARY

A Series (Analogies/a:b::c:d relationships) PELED
: JUBA :: CRSY : APQW

Options :



LWDC

LXEB

LYCD

LZDA

Sub-Section Number : 3
Sub-Section Id : 974109348
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 9741093152 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving E’\)m.ﬂ“?g S

A. Series ( Odd things out) FreD

21 31 43 57 73 91

11'19'29"41°55"'70

Options :

21

1% 11

91
70

73
23

31
19

Question Number : 32 Question Id : 9741093153 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)E}Jﬂ“@ D

A Series ( Odd things out) Fraoew

75, 57, 54, 64, 36, 87, 69, 93

Options:

54
1%

36

93

64

Question Number : 33 Question Id : 9741093154 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3“5 S

A. Series ( Odd things out) Feaoew
45, 75, 175, 245, 315, 605, 845
Options :

315
1.4

405

]



245

Question Number : 34 Question Id : 9741093155 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ?i:t&“.u_‘mﬂ“?g S

AL Series ( Odd things out) Fraoew

83,31, 29. 323 17, 19 39 55

Options :

39
1.4

53

83

19
4. -

Question Number : 35 Question Id : 9741093156 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATLYTICAT ABILITY
2. Problem Solving ‘&)E}Jﬂ“@ IS

A Series ( Odd things out) Fraoew

Mahanadi, Tapati. Sutlej. Chambal. Ghaghara. JThelum. Indus. Aravalli
BHG. S0, WE, Soexdd, e, Bnevo, Do, BTHP

Options :

Aravalli eIT°IY
1.

Ghaghara e



Chambal CI0EIE

3.

Tapati Bad
4, %
Sub-Section Number : 4
Sub-Section Id : 974109349
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9741093157 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)

Fraoew
HILZXR, N X

Options :

M
1. %

N
2. ¥

0
3. %

P
4, ®

Question Number : 37 Question Id : 9741093158 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoen



2, 5,10, 15, 50, 45, 250,

Options :

Question Number : 38 Question Id : 9741093159 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Sertes ( Missing numbers in sequence or series)
FLaoen

ICETMGU. KAG _OEW. MYIPQC . O KNSAA, QUM__ UYC.
__SOTWWE. UQ__ HYUG

Options :

SSXW.M,S5 Q

WL LS,
v Q

R X X 1.8 1)

S, X, W, LR OQ
4. =

Question Number : 39 Question Id : 9741093160 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

A Sertes ( Missing numbers in sequence or series)
Feaoen

07, 71, 73, , 83, 89,97, 101

Options :
81

79
3.¢

4.% 76

Question Number : 40 Question Id : 9741093161 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Sertes ( Missing numbers in sequence or series)
Feaoen

55,56, 59,08, 95 176,

Options:
249

1. %
337

419

321



Question Number : 41 Question Id : 9741093162 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoen

Options :

64
1.%

Question Number : 42 Question Id : 9741093163 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

A Sertes ( Missing numbers in sequence or series)
Fraoew

123,78, 111,87, 101,96, , 105

Options :
90



111
4. %

Question Number : 43 Question Id : 9741093164 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Sertes ( Missing numbers in sequence or series)
Fraoew
USTRUMP, RUMPUS, U _PUSTR, PU_TRUM, STR MPU,
RUMP_ ST. MPUST_ U.

Options:
1.« T-M. 5, U UR

L W B MT LR
2. %

L8 UM U R
3. %

UMSET.UR

Question Number : 44 Question Id : 9741093165 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoew

4, 18, 48, 100, 180. 448

Options:

_ 196
1. %



2. %
244
3. %
204
4.

Question Number : 45 Question Id : 9741093166 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)

27 243 729

" 16 " 32

4. ¥

Sub-Section Number : 5
Sub-Section Id : 974109350
Question Shuffling Allowed : No

Question Id : 9741093167 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 48)
Question Label : Comprehension



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ“?s S

B. Data Analysis Orod DINE

The following table depicts the trends of admissions i MBA in five colleges A to E during
five years from 2020 to 2024. Based on this data answer the questions from 46 to 48.

A, B, C, D, E e b o’ 2020 Qod 2024 oS Gaes) maadio MBA
oo Somo & 300 D5 Ardaed. & GTrozo BT 46 ~voc 48 SR

93) 05 dargTdagec.
Year no0.—

College 2020 | 2021 | 2022 | 2023 | 2024
gygee)l

A 140 135 150 140 160

180 170 190 210 200

B

C 120 100 110 125 140
D 200 210 205 220 230
E 150 145 160 155 170

Sub questions

Question Number : 46 Question Id : 9741093168 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘A)mﬂ“?g G

B. Data Analysis OTrod DI06

Which of the five colleges had the highest total admissions over 5 years?

5 200\TOE 0308 pOTe £9A &d) ST 287

Options:
B
1. %
E

2. %



Question Number : 47 Question Id : 9741093169 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)m‘ﬁ‘é AT

B. Data Analysis OTrod DI06
Out of all admissions in the year 2024, the percentage of admissions in college B 15

2024 ¢5° Awedo powee’ SwFre) B 65D DT Joed Fe0?

Options :

[ ]
| ]
[ ]
[ ]

Question Number : 48 Question Id : 9741093170 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY

2. Problem Solving :::-mi‘r@ S

B. Data Analysis Og@rod D306



Which college has witnessed highest growth percentage in admissions in 2024 when
compared to 20207

2020 F FOIPE 2024 &° D Evewe DITOS” BBIBE DHOMEV THo SAPD

e:)m:rémfh?

Options :
B

Sub-Section Number : 6
Sub-Section Id : 974109351
Question Shuffling Allowed : No

Question Id : 9741093171 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (49 to 51)
Question Label : Comprehension
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)&‘_l_‘:.ﬂ“?g PN TATY

B. Data Analysis dgrod DI



The following Pie-Chart depicts the students who play different games in two colleges A and
B. Based on this information, answer the questions from 49 to 51.

Number of students in the college A= 1000
Number of students in the college B = 1500

& 306 ©-0g0 & G0t S¥TRRD A, Bodh® DG B0l 68 DIjhom arded.
daee) AeS™D) Derydoe doa = 1000

g7 B o5 i oy = 1500

& Darardo Brrdor 49 ol 51005 (v H3) V5 VAPETP A0G.

A B
Cricket

Sub questions

Question Number : 49 Question Id : 9741093172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “ﬂm.ﬁ“g B TAT

B. Data Analysis GFF0T DTN
Find the total number of students who play football in both colleges A and B together.

Svzoe A, Bew Socod” S8R i ere sty 92 dwdo DIYHR D035 Jod?

Options:

| % 700



2. ¥

600
3. %

680
4. -

Question Number : 50 Question Id : 9741093173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ“?s S

B. Data Analysis Orod DINE

Both the colleges put together, which 1s the game least played?

Docs) €vraroees” €0 Desercn HEN T BCOH?

Options:

Tennis Eﬂﬁ]‘lﬁa
1.v

Boxing eS8y
2. %

Cricket 2365
3. %

Football 2 emed
4. %

Question Number : 51 Question Id : 9741093174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ“?s S

B. Data Analysis Orod DINE

In the college B, find the difference between number of players of Football and Chess.

svr7ro B ) e andain wcdorio (39) & o8 Mo S gmé“boé.

Options :

180

200

Sub-Section Number : 7
Sub-Section Id : 974109352
Question Shuffling Allowed : No

Question Id : 9741093175 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (52 to 55)
Question Label : Comprehension
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)m.ﬂ“@ PN TATY

B. Data Analysis Ggro? DTN



U={123,456,72891011,1213,14,15,16} be the universal set and
I=11,3,5,79,11,13,15), I = {1,4,9,16} and Il —{2,3,5,7,11,13}

Based on this data. answer the questions from 52 to 55.

U=1{12345678,910,11,12,13,141516} 36 D8,
I=1{1,3579,11,13,15}. Il ={1,4,9,16} avbowo Il = {2,3,5,7, 11,13} >

S5, & Orozo BTrdore 52 ol 55 H0L (v @?;LUE‘.J mmmmmaso&.

Sub questions

Question Number : 52 Question Id : 9741093176 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ“é FD

B. Data Analysis O@rod DIN6
Empty regions in the Venn diagram are
DR DB AP DDV (10 FPoETeD

Options :
E,G



A C

Question Number : 53 Question Id : 9741093177 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘&)m‘ﬁ‘é AT

B. Data Analysis OTrod DI06

Which are the only regions that contain two integers?
B0t QPP VoORD G 58D Jromrdd?

Options :
1 % . D
B, C
2. %
B
3. %
B.D
4. v

Question Number : 54 Question Id : 9741093178 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘&)m‘ﬁ‘é AT

B. Data Analysis OTrod DI06

The set representing A 1s
Jrogdo A S0 rdodd DALS



Options :

1.v 115
L x 2:15)
Lx (119

Empty set
BIPRY] WadIEd

Question Number : 55 Question Id : 9741093179 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ“?s S

B. Data Analysis Orod DINE

How many elements are there in region E?
JFrodo E &° Iy awresren so?

Options :

5

Sub-Section Number : 8
Sub-Section Id : 974109353
Question Shuffling Allowed : No

Question Id : 9741093180 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (56 to 60)
Question Label : Comprehension

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

Based on the table and the rules given below. answer the questions from 56 to 60,

Numbers |1 [0 5 2 6 3 9 7 4 §
Symbols @ | A # C K g % |G |F ©

Rules :

1. If the first digit 1s even and the last digit 1s odd, both of them are to be coded with the
code first digit.

2. If the first digit is odd and the last digit is even. their codes are to be interchanged.

3. If the first digit and the last digit are both odd, both of them are to be denoted by the
code of the last digit.

4. If the first digit and the last digit are both even. then both of them are denoted by the
code of the greatest digit.

3060 ;)egs b0y dobare esgrdor 56 Mol 60 D08 e :’géluéj

“famGWEJc:‘JSoc‘..

vopgen 110 5 2 6 3 9 (7T |4 |8

+
=
o
=

=

(=]
R

1

i @ A

Q0DTED:
1. 2wce) €203 D6 Doagean woain dnd 03 S 03 eond, & JokoBa) A
o € & pagnodod.
2. 20068 e905 &% ev0m SwBoy DB €905 DB Lo, 8 EE ) 1RG0 AFONIT.
3. 20064 S0Bai D30 €908 Dot 852 00 &2 Tocodd) DB w08 EE & Ardard.

4. 2wt B 5B 908 Totir B wand, & Jolod & Hoaes’ (183 wos ding) & &
AT

Sub questions

Question Number : 56 Question Id : 9741093181 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

What 1s the code for 243578?

243578 §& 2&?

Options :
C*$G# ©
1. %
O*$HGO
5 ¢ © $=#GC
3 % C*$#GT
-:+: 4... &l e}
4% C*$#GC

Question Number : 57 Question Id : 9741093182 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&1}3“5 D

C. Coding and Decoding Problems
§coh andain c8'coh Ddawgen

What 1s the code for 12456787
1245678 c3n8), E 267
Options :

| & @CC*#KO

, x GCHKK@

@GC*K£G
3. %



OCHKG@

Question Number : 58 Question Id : 9741093183 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)mﬂ“?g S

C. Coding and Decoding Problems
§c.of andoin CECohH D5

What 1s the code for 6978457
697845 OIL’JSET EE D7
Options :

K%GO*K
1.4

K%GO*4

H
=]
=
!
gl
1

H
(=]
&
G
i
e

Question Number : 59 Question Id : 9741093184 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)m‘ﬁ“ﬁ S

C. Coding and Decoding Problems
§coh andain aEcoh Ddavgen

What 1s the code for 9873667
087366 cﬁnéb & 28?

Options:



1. & %©G3KK
2 KOG3K%
3 % %OGIK %

KOGIKK
4, %

Question Number : 60 Question Id : 9741093185 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&‘.}Jﬁ“ﬁ by Ta by

C. Coding and Decoding Problems
§coh andain aE'coh Ddavgen

What 1s the code for 92865772
928657 a3n8), BE Ha?
Options:

%COK#EG

%COK#%

2. %

GCOK#G
3. %

GCOK#%
4, %
Sub-Section Number : 9
Sub-Section Id : 974109354
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9741093186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)mlﬁ“ﬁ S

C. Coding and Decoding Problems
§coh andain aEcoh Ddavgen

In a certain code PROBLEM 15 coded as KILYOVN, then SOLUTION 15 coded as

w538 203 §€ & PROBLEM & KILYOVN r 84 303 SOLUTION & & Sod
Do §E S,

Options :

HLOFGRLM
1.4

“ MHOFGSHN

“ MEOEGRKS

HMOFGSMN
4, %

Question Number : 62 Question Id : 9741093187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)mi‘l“é by Ta by

C. Coding and Decoding Problems
§coh andain aE'coh Ddavgen

In a certain code the word NICE 15 coded as PLGJ and the word HAND 15 coded as JDRL In
the same code the word SWIM 15 coded as

w5 A0 &€ &° NICE % PLGI re, HAND &0 JDRI rar §€ drcd. od 86 &° SWIM

a308) gE

Options:



UGLO

UANQ

3 v UZMR

UYoP

Question Number : 63 Question Id : 9741093188 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3“5 D

C. Coding and Decoding Problems
§coh andain c8'coh Ddawgen

In a certain code DOG 15 coded as 420 and CAT 15 coded as 60. Then 1n the same code FLY
1s coded as

w5 A0y §E ¢ DOG & 420 e, CAT &0 60 mmie € 300 od §¢ & FLY

g §&
Options:

1800
1.4

900
450

3. %

360

Question Number : 64 Question Id : 9741093189 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

In a certain code PRIME 1s coded as NFIOQ. and MANGO 1s coded as HPNLZ, then 1n the
same code the word GRAPE 1s coded as

wS 203 §€ ¢ PRIME & NFIOQ rr&n. MANGO & HPNLZ i 8§ Sndapc.

GRAPE % 806 degorr §E 3.

Options :

. % QFAHS

QFAFQ
2. ¢

ODAFQ

ODAHS

Question Number : 65 Question Id : 9741093190 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)mﬂ“?g S

C. Coding and Decoding Problems
§c.of andoin CECohH D5



In a certain code PYTHAGORUS 1s coded as OZSGBHPQVT, then which word 1s coded as
CIQIDGKFS?

PYTHAGORUS & OZSGBHPQVT m && Sobedayne . CIQIDGKES m &&
DOLBED D0 6?7

Options :

DIRICHLET
1.¢

> x BHASKARAN

ALEXANDER
3. %

CATHERINE
4, ®
Sub-Section Number : 10
Sub-Section Id : 974109355
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 9741093191 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)&3}3“5 ARy

D. Date and Time & Arrangement Problems
3G, V0o S80I B85 DAL

If today is Friday. then 214% day from today falls on which day?
& Ba 3080700 90000, DS fod 214 o 8w °00e5" 2 e 9:)e06?

Options:

Wednesday  e0Go°Co
1. %



Monday PP narco

Tuesday DO 00
3.¥

Sunday esdarrCo
4. %

Question Number : 67 Question Id : 9741093192 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬁ“?g e

D. Date and Time & Arrangement Problems
38, Danoo B0 e B8 “namm?gm

What 1s the least time required after 4 o’clock for the hours hand and the minutes hand of a

clock to be 54° apart?

4 oty B0 (CAIrCos obe) awen B AMaFe awenw ) 54° Eeo

&oGott) ?’.Jﬁg éﬁ)ﬁg 2a00h0
Options :
11 minutes 11 D.ew
1. %
> % 10 minutes 10 D.ewn
13 minutes 13 D.en
3. %
12 minutes 12 D.en
4.

Question Number : 68 Question Id : 9741093193 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)mﬂ“ﬁ ARy

D. Date and Time & Arrangement Problems
3G, V0o S80I B85 DAL

At what time between 6 hours and 7 hours will the two hands 1 a clock be at right angle for
the second time?

AaDo 6 ol 7 ot | (EaIrcoe"d doguen O Manabots® Joll J0 oworT

GotPo?
Options :
6 hours 16 iminutes b (o. 16%3).
1. %
6 hours 44%1’1111]1“95 6 jo. 44% .
2. ®
. L9 ) 9
6 hours 41 Emmutes 6 (io. 41E§).
3. %
6 hours 49 iminutes 6 fjo. 491—11:3.
4. &

Question Number : 69 Question Id : 9741093194 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)6&)3"5 By LT

D. Date and Time & Arrangement Problems
38, Danoo B0 e B8 K::m?aém

Ramana 15 a son of Murthy’s father’s sister and Lakshmi 1s the paternal grand mother of
Murthy. Then Ramana 1s related to Laxmi as

20 Sog, I0E), 6 HHrtE Gaom andaiy durd os), Tad), VL) BONIDE.
Ga0ea, Ué&@ﬁ 2 DGO 0cErd) £0A ey ©?

Options :
1. %



Son 337

Nephew DRI
2. % -
Father Soc.,
3. %
Grandson DA
4.+

Question Number : 70 Question Id : 9741093195 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“ﬁ S

D. Date and Time & Arrangement Problems
38, Do B0 e B8 Kam?a?gm

At Vijayawada bus station a board says there 1s a bus to Hyderabad for every 45 minutes. An

announcement says “a bus to Hyderabad has left 13 minutes ago and the next bus to

Hyderabad 1s at 5.18 pm.” Then the time at which the announcement came 1s

POTEEE HTAS D8 45, LD w8 LR G0N DRODTE LAy VAV & ws 5D
m@ala. TETErE) A% 1320 80 28 0y DL 3806 QBTN SIS LRy

Franogo fi0.5. 182, 0 Eor” wf PER BIM. A 8 YELD SV Hdvato

Options :

4.20 pm J=.4.20
1. %

4.33 pm Je.4.33
2. %

3.v¥



4.46 pm Je.4.46

4.51 pm J°.4.51

Question Number : 71 Question Id : 9741093196 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 BTNy

D. Date and Time & Arrangement Problems
B3, Ranoie Boin BBEL DaVIED

Sunil arrived at a place on Friday and came to know that he was three days earlier than the
scheduled day of meeting. Had he reached there on the following Sunday. he would have

been early/late by
538 VarD? PB3 gTdo Gex SwES) 0N B8 NArDR 86 Be» 5T QrD

Feaven) 0o DTNED (aFo. W0 8 VAFITIS BT 0o Gan D00,

93

Options:

One day earlier

W Ber H0ocorr DN DLDB00B.
1.4

One day late

280 es0gorT DV DDA,
2. %

Two days earlier
Tocs aren) oo DN DDB00E.
3. %



Two days late
Toco Baven eswdgore DD\ DLIDB0D.

Question Number : 72 Question Id : 9741093197 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 BTNy

D. Date and Time & Arrangement Problems
B, Lo 801 BBEL VaVVIED

Six persons A, B, C. D, Eand F sat for a meeting around a round table facing the centre. C
1s the immediate left of E. F 1s between B and C, D 1s between A and E and A s to the
immediate left of B. Who 1s sitting between F and E?

A.B. C.D. E Boiw F e9d adfhen w8 T 0p) chiyr Somrdando SPinT) .
ES agm Jcaopd €, B adoin Co aodie F, A dvdoiw E © dodge D odoiv B 8

BE0 JEap A sod. Faoboin E e al} Do) E‘J"d)rha“ld}?

Options :
A
1. %
B
2. %
3.¢ .
D
4, %

Question Number : 73 Question Id : 9741093198 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)&3}3“5 ARy

D. Date and Time & Arrangement Problems
3G, V0o S80I B85 DAL

If M,0,8,0 respectively denote +, +, —. X, then

(16®@4)E(8® 4)
(4p8)®(2016)H2

K,0.0.0 e S0 +, +, —, X O WP,

(1624)2(8 @ 4) e
(ap8)@(2@16)H2

Options:

|

ba |

Question Number : 74 Question Id : 9741093199 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘&)&3}‘3“5 D

D. Date and Time & Arrangement Problems
B, Lo 801 BBEL VaVVIED



Ifa ab =%zb. ayb= 2HTH’and aBb =?. then (2a(3y1))p4 =

aab= a5l ayb= 2a2+b anBaiv a f b =:i. €300, (:ZH(S}’l)j184 =
Options:
Z
1.% 3
7
2. %
i
3.7/ 2
14
4. «

Question Number : 75 Question Id : 9741093200 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&‘.}Ji‘l‘*ﬁ JGS

D. Date and Time & Arrangement Problems
B, D0 B0IL VBEL VADRVJED

a+b
2

{l=1)D1}®1H1=

Ifa*b=2a+b, a@b-= and a#b = 2(a + b), then

a+b

a+*b=2a+b. a@b =Tmacmj a#b = 2(a + b) e00dDE0

fl+1)D1}D1]#1=

Options :

2

2. ¢



3. %
4

4, %

Mathematical Ability
SectionId: 97410947
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109356
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 9741093201 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arnthmetical Ability

esoErieded ,ﬂvmgée:a

" nz Fratog : :
If 2™ = (2™)™, then m inteoms of n is

o R (2M)"° oD, N HoEeS® m dewd

Options :
nZ-1
F
T
2
nns—



Question Number : 77 Question Id : 9741093202 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Erieded ,ﬂvmgée:a

If x = 0and x is an integer. then 23* + 23¥*2 4 23¥*3 {¢ always divisible by the integer

X 20, X w8 QPG Vg eond, 2% + 2372 4 25 038 Joyer Do erhicd

0l 8 rg ;boa:;gﬁ
Options:
. 17
1. %
2. % "
3 @ 13
7
4, ®

Question Number : 78 Question Id : 9741093203 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arithmetical Ability

eaosricded ,ﬂvmgée:a



Rs. 4000 1s divided among P, Q and R, so that P gets as much as Q and R together get and
Q gets Rs.1000 more than R. Then R's share, in rupees, 13

4000 o) oo d§en P Q, R 05 & ddorr DHowd. P Tohd 2o 8IA Q
200010 R en &9 Fodd anardd dardoe ddaw R 5§7°) 61000 &0 Q edorr

Todrdeyond R aing) otr (arof)

Options :

1% 1000

500
2.

2500

1500

Question Number : 79 Question Id : 9741093204 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂvmgée:a

70 litres of mixture contains milk and water in the ratio 4 : 1. How much water (in litres)

must be added to this mixture so as to have milk and water 1n the ratio 2 ; 1?7

70 Htag Dgswoes® aFen, vy Ad 4 ¢ 1 ™ &od. oo HBareo (DG B &

D0 S0 IO RN, 5“’,) A 2 : 1 sri0c?

Options:



14

Question Number : 80 Question Id : 9741093205 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂva:ugée:a

2 1 T
J1042v21 J12-2/35 8-2/15

Options:
0

Question Number : 81 Question Id : 9741093206 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arithmetical Ability

espgricded ,ﬂnmga@



V49 +20V6 =
Options :

2 +4/3

1. %

Question Number : 82 Question Id : 9741093207 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgée:a

For what values of X and y. the 6 digit number 7x342y is divisible by 88?

x ooty © ds) 2 DedOL) 6 030 Vo 7x342y BAG 88 & AF 0 &rfiod

ATAR 2V TA Y
Options :
- x=4,y=6
x=6;y=28
2. %
x=4y=4%



Question Number : 83 Question Id : 9741093208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁumgé@

What 1s the least value of x for which the number 73x421 is divisible by 97

73x421 o9 Rog 9 o i}é‘gﬁ‘q:}m erfodién X cfmggj 53] Dena) Joeh?

Options :
5
1. %
2. % 1
3
3. %
1
4. &

Question Number : 84 Question Id : 9741093209 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂvmgée:a

The least common multiple of two prime numbers @ and b 15 319 (a < b).

Then 5a—8b =

G0t PER MofRw @, b (a < b) © 833 Jraray oedao 319. 0. 5a — 8 =



Options :

1w —177
69
2. %
—109
3. %
57
4. %

Question Number : 85 Question Id : 9741093210 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂvmgée:a

A rectangular floor of dimensions 4.96 m X 1.86 m 15 to be paved with square tiles of side

x cm cach. Then the greatest value of x 15

4.96 0. X 1.86 a0. oseurio w8 0 SSIOFT0R) S0 9B T thao X Do.. ol
Do HAOFS 0 B8y & oDy God. Y X g, 163 Dewsd

Options :

93
1. %



Question Number : 86 Question Id : 9741093211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@

The rational number represented by the recurring decimal 0.57 1s

DIT D0 F07 D)0 0.57 £ VATHQM EGID Doay

Options :
ﬁ
43
1. %
E
43
2. %
&
45
3.¢
E
44
4, %

Question Number : 87 Question Id : 9741093212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

What 1s the least positive rational number to be added to

2 7 1 1 ; :
3-+6—+ 4=+ 7— to make it an integer ?
3 12 4 12 £

3o +H6—+4-+7— £ D 4D 6 eLohon Donjdy L5 ©B wE WP doa
3 12 4 12 =]

e9:E00ES . 98 823 G5 950D Woa)y



Options :

11
12

Question Number : 88 Question Id : 9741093213 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁvmgé@

. . 5 3 !
The ascending order of the fractions a ==;b=—;¢ = = d—=-" 15

5
7 16

a=5;b=1—3_;c=5;d=£@?ﬁéjmlﬂcﬂnébﬂﬁf?’mmgmo
7 16 3 104
Options :

-~ a,b,c,d

1. %

b,c,d,a

2. %

- rdbao

3. %

4 d,b,ac

Question Number : 89 Question Id : 9741093214 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

2 3 1 1
The smallest number among 73, 52,1352,593 is

2 3 1 1
73,52, 1352, 593 0" 62 Doas

Options :

3
Lz
1. %

L
1352
4. %

Question Number : 90 Question Id : 9741093215 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esosrieded 3“@%5@

The radius of a cirele 15 mereased by 20%. Find the percentage mcrease in the area of the
circle.
28 98 FEITI) 20% DoAJY, & o ) PFege & DALY T

Smé‘sgjod.

Options :
1. %



48

av ¥

Question Number : 91 Question Id : 9741093216 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

Three persons P, Q and R whose salaries together amounts to Rs.28800. spend 75%. 85%
and 80% of their salaries respectively. If the savings of P. Q and R are in the ratio 20 : 9 : 8,

then salary of Q (in rupees) 1s

20 S§Sen P, Q, R © Sero dwgo 6r.28800 ST o) DR o6 dered’ 75%,
85% aubatn 80% 2y 3. P.Q, R © Tcopo Ayd 20 : 92 8 esomd. Q aaws),
2edo (dr.oef’)

Options :

1% 10600

9800

9400

9600
4.+



Question Number : 92 Question Id : 9741093217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

A shop keeper fixes the marked price of an article 15% more than the cost price. He sold
75% of the articles at marked price and the remaining 25% at a discount of 20% on the

marked price. Then the percentage of his total profit is

LS5 WFHIMO w8 JWPID T §J) 66 p 15% 5™ s DD
ATBodAD. &5 DD’ 75% daped pEda Dol RV, ADAE® 25% DO
DL Do D 20% @go@ﬁ €90 A0, D) 9K A0 & Teh0

Options :

9.75
4. %

Question Number : 93 Question Id : 9741093218 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION — B : MATHEMATICAL ABILITY

1. Arithmetical Ability

esosrieded 3“@%5@



A merchant sells his goods 15% less than the cost price. But he deceptively uses 800 gm

weight mstead of 1 kg while weighing the goods. Then the loss/profit percent 1s

28 COSHREEAE B0 G300 (i) RV T Eé:]_ {;SGS@;L 15% @Qoﬁ.’nvf AWl
570 0965 QPR POSor 26 800 M 1 S ™ Sl &8 HDHBND

90 EPCD). ), 98 erdio g N Tdo

Options :

- 5%%1{)55 52%5):&1{}
5 6% profit 6% erdo
. f}a profit 6 i% er#io

6=% loss 6% g0
4. %

Question Number : 94 Question Id : 9741093219 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability
e905(16363 JPa00 3

=)
Three persons X, Y and Z started a business and Y left atter 6 months, Z left after 8 months,

. & . .. B .
If at the end of the year profits of X,Y Z were shared in the ratio Eire then the ratio of

the mvestments of X, Y and Z 1s

Q0 R0 X, Y Z &0 08 TEFTD) FrdoDodd. 6 0w SOTS Y Do, 8
] it L

iz g

Ree) edhared Z S0 D). VoSBT erzioes” X, Y. Zen ard aréred

LT% I

[
| =

&5 Doctotd. X, Y, Z © Denece Aind

Options :

1% | Wt s



2.
2:5:4
3. %
1:-4:5
4, ®

Question Number : 95 Question Id : 9741093220 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂvmgée:a

A sum of Rs.58500 is divided among three persons P, @ and R in such a way that the ratio
of the share of P and that of Q and R together 1s 1 : 2 and the ratio of the share of Q and
that of P and R togetheris 3 : 10. Then the share of Q 1n rupees 15

dr.58500 e mg}m aggng) P, Q s0bain R ©% & Do 2owd. P Oﬁnéb T8,
Q 00k R dgo Tt (10 Ay 1 : 2 0Ba) o) Pt dndai P andoin

R © ero 200033 (o Aipd 3 : 10. ek @ aiog) arer (ar.08)

Options :

27000
1. %

19750

13500
3.¥

11600



Question Number : 96 Question Id : 9741093221 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@

Two pipes X and Y can fill an empty tank in 4 hours and 6 hours respectively. They are

opened alternatively, starting with X for 15 minutes each. How much time 15 taken to fill
the tank?

X andoin Y 9 Godd ﬁ"gm 28 Ay pﬁ“@.ﬂ) SR 4 (ot B0 6 foteres
o). X & Frdodod) 15 AaFOEEF0 w400 S0 nF'Y i) B8N0NE,

o7 @ Dotas E}tén Den0o

Options :

4 hours 18 minutes 4t50.0. 182,
1. %

4 hours 48 minutes 4c50.e2. 487,
2.

4 hours 36 minutes 4ti0.©). 362.
3. %

4 hours 28 minutes 4¢io.e. 28D.
4. %

Question Number : 97 Question Id : 9741093222 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arithmetical Ability

espgricded ,ﬂvmgﬁ@



Pipe A can fill an empty tank in 8 hours and B can fill 1t in 12 hours. But due to a leak at
the bottom. they together take 1 hour 12 minutes extra to fill the tank. The time in hours

i which the leak alone can empty the full tank s

2t FER Fgo A, 8 oo sbain Féyo B, 12 ot Dowd (e, 5°R) D
e H3S aarers 3 Gocw F?tg"m &80 es ﬁQKJ Qodeeasd 1 o, 12, J)QJGJJ a0

Sruoeran. Do T &) FGD B3 2,86 arY Saned3 Hew davabo (fo.oe")

Options:

20
1. %

3. %

4.+

Question Number : 98 Question Id : 9741093223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@

A train T, runs at a speed of 80 kmph. Another train T, runs at a speed of 100 kmph.
Tstarts at 7 am from a station and T, starts from the same station at 9 am. At what distance

(in kms) from the starting point do they meet each other?

2,4 0en T; (1005 80 4.0, Deiodd Hairednod. ufé Ben T, (o) 100 3.20. Driod
D0IrE00. 28 VAR Ao &.7 (ot T exoienddeined dnboin 88 a0 ok
.9 (o) T, £0endiEsod. Doireo JrooDods A e Qo Jogh Grdo

(3.0.06°) & &3 5r0y wETATEE SeROSD0ET0N?



Options :

600
1. %

700

800

850

Question Number : 99 Question Id : 9741093224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgée:a

How much time (in seconds) does a tram 110 m long travelling at 70kmph take to cross

another train 240 m long standing on a parallel track?

(ot 70 8.20. driod¥ Poreld) 110 . Teio 28 Jen TS daroaso™
&) DErUD Jucamidy 240 . TFerie DS Geord Jod davabod’ (PEPY’) o
ffoco?
Options :
20

1. %

18
2. ¢

17

16
4, %



Question Number : 100 Question Id : 9741093225 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@

Two persons A and B can complete a piece of work 1n 24 days. B and C can complete the
same work in 30 days. If A works twice as much as C. then in how many days B alone can

complete that work ?

QM H{ER A 0B B &0 28 DA 24 Hareds” QrQ dadriom. od DAY B dboin
C en D% 30 Baveds” Hrd dovrom. C £%) A 880 DISNYS, B 242 & DD

29 Baree” Qra Soon?

Options :

Question Number : 101 Question Id : 9741093226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arithmetical Ability

eaosricded ,ﬂvmgée:a



6 women can make 12 toys 1n 4 days, working 6 hours per day. In how many days 8 women

can make 24 toys working 4 hours per day?

Farth> e300 ot Sy 1A B estorddd pew 4 Tavod” 12 Faen 3. Sardd 4

(10£20) FaY)y™ D TP NG <o éw 24 62000 BOIG JAHEAS Y Baven

02 daird)?
Options :
15
1. ®
9
2. ¢
8
3. %
12
4, ®

Question Number : 102 Question Id : 9741093227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@

If the area of a trapezium whose lengths of parallel sides differ by 4 em and whose height
is 8 cm is 112 em?, then the length of the larger side of the parallel sides, in em, is

Dots) o0 thare) E S6o 420.00. B0 ) § 0.2, BT (18) DAL
Seody@o PToje 112 ©9.00.00. HONNDE. &8 AL DBIMRSD VAT

Barod” DGG0ND Lzo TEa) (h0.00.06°)

Options :

16
1.4



2. %
28

3, %
12

4. %

Question Number : 103 Question Id : 9741093228 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂvmgée:a

The area (1n sq.m.) of a rectangular plot whose perimeter is 18 m., and diagonal 1s 5 m. is

18 2oty kp Eosd 595 a8 8¢ dMoTsopue awg), dsgo Ty 5 .

B0, & YOO PFO0 (&3.20.00¢5°)

Options:

Question Number : 104 Question Id : 9741093229 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arithmetical Ability

es0srieded ,ﬂvmgée:a



A wall of dimensions 16m X 6m X 20 em is to be built using bricks each of dimensions 30

em X 20 ¢m X 5 em. The number of bricks required 15

30 20.00. X 20 20.80. X 5§ 2o0.00. Fosers 5@& Qtnges endirfon

1620. X 6. X 20 20.20. E0B0R 59 Fesd 03D 500 6Dy AR Doy

Options :
1600
1. ®
3200
2. %
6400
4800
4. %

Question Number : 105 Question Id : 9741093230 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁumgé@

The circumference of the base of a cylinder 1s 24w cm. If the height of the cylinder 1s equal
to the diameter of the base of the cylinder, then its volume (in cu.cm.) is

28 QI“?'.]D (fmézy ALY AV Ee)ed 24T 20.00. Eél}“‘&)c: ffmg[; e, U”’;g}"?{)ﬁ’.}] AV rCmJSEj

TIPS DAR0 GONINED, T 20 DBATE0 (20.0.00.085°)

Options :

1% 1728w

, w 1828w



2456

3456w

Question Number : 106 Question Id : 9741093231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

esogricded ,ﬁumgﬁ@

Aroom is i the shape of a cuboid. Its length is twice its breadth and its height is 11 meters,
If the area of its four walls is 660 m” and square tile of side of length 2 meters costs Rs.450,
then the cost of tiling its floor area (in rupees) is

8 t16 68 200 w5608 0. 8 HO T Tl Dekedh Bocoden ST & (6 ek
118, &3 6 ety Ao 2300 660 .20 S0t 24, Fowo Ty wgﬁb S66:2)
86 2Beb 6450 DB, & 16 Sop By S0ed eakf ahy (6r.08)

Options:

22500
1.+

. 20000
45000

90000

Question Number : 107 Question Id : 9741093232 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

The length and breadth of a rectangular field are m the ratio 7:5. The length is reduced by
2 meters and breadth 1s increased by 3 meters as a result, the area is increased by 60
sq.meters. Then the cost of fencing around the field in new dimensions at the rate of
Rs.400/- per meter (in rupees) is

03 B8 SBUTTE ERY Te, dekemen T:53n 86" S0, oI Tk 2 HY) 8o,

ey & 3 . oo $0 & Eo P00 60 4. DB, A Svsory 489

80 1t S03 attotisd 9O .5 4000 531 sk oty (6r.08')

Options :

56400

L 58400

54600

52400

Question Number : 108 Question Id : 9741093233 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arithmetical Ability

eaosricded ,ﬂvmgée:a



If the length of the side of a thombus is 20 cm and the length of its shorter diagonal 1s 24
o, then the area of the thombus (in cm?), is

Ssocshadoyzo o) ghzo T 2020.4). 8050 TS ) Bowed Dddo T 24

20,20, AN, 8 D% S0thyzo FF0 (&.:200.0.08)

Options :

s

Question Number : 109 Question Id : 9741093234 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgée:a

Let m,n be any two positive integers. If m = n is the remainder obtained when m®n is
divided by 23, then 7 # 3 =
MmN e Jo Got cjéwg {ooaaigumg" A0, M & 23 38 RN vdod

3P0) mn Ardoddbond, 7+ 3 =

Options :

-

1. %



Question Number : 110 Question Id : 9741093235 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁumgé@

The average of the numbers ay, a,, s, a,, a5 Which are remainders of 62,72, 82,92, 102
Respectively when each one is divided by 18 is

6,7:,8,9,10° of W)y 18 & ok By daben IIT o,

1y, Ay, Ag, Ay, Az © DD

Options :

8.4



Sub-Section Number : 2
Sub-Section Id : 974109357
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 9741093236 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3“533%5@

IFA={3k:keN1<k<200} and B ={6k:keN,1<k<100}.

Then the number of elementsind — B 1

A={3k:keN,1<k<200} &botw B ={6k:keN1<k <100} wond

A - B & arose 02

Options :

100

Question Number : 112 Question Id : 9741093237 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD 5‘533%5@



For non empty sets 4, B and C, which of the following statements are true ?

A B,C e wépd B ONINE, & 308 DISTVSE D S’
=B=A~{AnE)
-(Bu )=@—BMMA—®
=(AnB)U(A-B)

()
(b)
(©

.'J:-IJ:.IJ:.

Options:

(a), (b)

1. %

(a), ()

Question Number : 113 Question Id : 9741093238 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

(2x2 —x)? —4(2x* —x)+3 =
Options :

(2 £ 32 A1z -1 Hx 1 1)

1. %

2x—3)2x—-1D(x—-1)(x+1)
2. %



(Zx—3)2Zy+ 1) (x— 1 x1.1)
3. ¥

(x=3)GiE1)(2x — 1){x+3)

Question Number : 114 Question Id : 9741093239 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Ddan, St telens) E}vmgé@

If a,f are the zeroes of the polynomial x* —7x +k such that @ — B =9, then the

polynomial for which k 1s a zero among the following is

0= f =9 esRdore X2 =Tx+k o amonds o, f e Bt AR SR,
& 308 TS ) wmnds k Bje0e008

Options :

2x2% + 6x — 40

1. %

e N sk e
2. %

3x%2 +41x + 138

4x? +33x + 18

Question Number : 115 Question Id : 9741093240 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§ROBOD 5“@3%5@

If the polynomial 3x* + 5x° + 6x2 + ax + b is divisible by x% — 3x + 2 . then the sum
of the digits b — a is equal to of the number

3t + 523 + 6x% + ax + b o9 308 x2 - 3x +2 A3 )0re 2o, No3){

b-a & eodv 20do

Options :

11
1.¢

24

fad
-2

3. %

182
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Ddan, St telens) 5“5332%5"3

If (x — 2) and (x + 2) divide 2x® + 3x> + ax + b, then (a,b) =

2% +3x% +ax + b D (x - 2) b (x +2) 0B Ao rhedID, (a,b) =



Options :

(8,—12)
1. %

f=i—<30)
2.9

(—8,12)

(8,12)
4, %

Question Number : 117 Question Id : 9741093242 Question Type : MCQ Option Shuffling : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3“53325@

I %—?=Baudx%y+?= 11, thenx -3y +3 =

xX+y X-=y

—L - = gavbatn —T+ =2 =11 wandipld x —3y+3=

Options :
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD Ebmgée:'s

fx+y):(y+2):(z+x)=13:15:17 and
x+y+z=360, thenx+2y+3z=

(x-ry) :(vFzkizex)=13 1151 17 subcin

X+y+2z=360 000, x +2y + 3z =

Options:

688

750

Question Number : 119 Question Id : 9741093244 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

xZ+50x—1

If x*—-12x—1=0, then ————
XX

x2+50x—-1

x2—12x — 1 =0 eand:Ntd, ——— =

xix?

Options :
39
76
1. ®
35
73
2. %
32
75
3. %
31
73
4.

Question Number : 120 Question Id : 9741093245 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DD, 2§D e



In an arithmetic progression, if the sum of first 10 terms is 3000 and the sum of first 20
terms is 12000, then the sum of first 30 terms is

8 908 ?éﬁﬁ 2068 D6 Herw Awde 3000 dbakn At 20 Here Awdoe 12000
ORI, &8 336 e 30 Here Ao

Options :
36000

18000

9000

27000

Question Number : 121 Question Id : 9741093246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD Sncm%@

B0 T B, .S D D
3 9 27 81

Options :
4
1. ®
2



(4

Question Number : 122 Question Id : 9741093247 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, argDHOD Fanges

4sec 45° cosec 60° sin® 20° cot 20°

sec 609 cos? 450
Options :

242

1.¢

3v2

23

Question Number : 123 Question Id : 9741093248 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD ﬂvmgée:a



sin75°+sin15°

cos75°+cos 15°

Options :
1. %

1
2. ¥

V3
3. ® 2

Question Number : 124 Question Id : 9741093249 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DAAD, EFIOBOD Ja0Y e

=)
tanAZ%,tanB :é = tan(24 + B) =

Options:

1
1. %

2
2. %

3



Question Number : 125 Question Id : 9741093250 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD ﬂvmgée:a

cos(x —y)=3cos(x+y) = tanx.tany =

Options :
2
1. %
2. %
1
3. %
4.+

Question Number : 126 Question Id : 9741093251 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St lens) 3“@%5@



B, and B, are two boats 300 mits apart and in a horizontal straight line passing through the
foot of light house. The angles of depression of B; and B, from the top of light house are
30° and 60° respectively. Find the height of the light house (in meters).

30020 o8’ (i) By, By @0 Bochy e & 2040 o thote ey S8 Hrods
02 2 o). &0 fgoaﬁo D W8 oo By, By © Aoy Eemen S 30° 60° eond, e

% 0380 A (08) $808).08.,

Options :

150 /3

1.4

350+/3

2. %

180 /3

3. %

2504/3

Question Number : 127 Question Id : 9741093252 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§ROBOD 5“@3%5@



The equation of line passing through the point (e, f) and perpendicular to line joining
(1) and (x,y,) is
(a, B) Dochoady thor Fede (x,, 7). (X, ;) Dotk vy $D5 6uBdh voworr ol
dgr e

Options:

V2 —x)y+ (1 —x)x = (2 —y)a+ B(x; — x1)

1. %
- (V2 +y)y + 00 +x)x = (x +x))a+ (Y, +y1)B
(V2 +x)y + (1 +x))x = (¥, +ya+ (x; +x1)p
3. %
(V2 =¥y + (2 —x)x = (3 —x )a + B(y, — ¥1)
4. v

Question Number : 128 Question Id : 9741093253 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, argDHOD Fanges

In AABC. D and E are points respectively on AB and AC. If DE is parallel to BC.
AD=x438BD=2x—3AE=x+1BC=2x— 2. thenx =

abao ABC &° AB 0Bain ACe p dmamr D, Een ot Dotapen. BC £ DE

weroiddo, AD =x+3,BD=2x—-3,AE=x+1,BC =2x — 2 s00&, x =

Options :

1.4 3



e | w

Question Number : 129 Question Id : 9741093254 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St Tevs) &m%@

ABCD 1s a quadrilateral, AB=2AD, 2DAB =90° BD = 10cm and the altitude from C
onto BD has measure 5 cm. Then the area (in sq.cm.) of the quadilateral ABCD i

ABCD a8 zf)ei)dJE)a-bo, AB=2AD, ZDAB = 90°, BD = 10 20.40. &80 C &0é BD

23 0% oo T 5 0.4, i tdothyzo ABCD o0 (.00 08)

Options :
36



Question Number : 130 Question Id : 9741093255 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DA, FFEOSOD g

An agricultural land is m the form of a quadrilateral ABCD. The length of the diagonal
AC 15 100m and the lengths of the perpendicular drawn from B and D on AC are 48 and
52m. The area of the quadrilateral in sq.m. is

ABCD 5 8 ;ﬁSbﬁﬂcﬁJ ENVAN zﬁeﬁad)aws“doeﬁﬁ €08, Déo AC Fe) 100 . b0k

AC2 B, Do dooc AR vt Saxw Tekipen 48 &, 52, o8, & dothyzo Gos)

DT (.08

Options :
4200

4560
4850

5000
4. &

Question Number : 131 Question Id : 9741093256 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DD, gD Jranges



P. Q. R are points on a circle with centre O as shown in the adjacent diagram.
If ZPQR = 100°, then £OPR =

=

29, 9008 s ore 0 Sogho tfo a8 Sydo
2 P. Q. Rew Docosdyen. £PQR = 100° p 3
eand, ZOPR =

Options :

10°
1.4

20°

45°

Question Number : 132 Question Id : 9741093257 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges



In the following figure ABCD 1s a rectangle, E and F are points on AB and BC respectively
with AE=1cm, BE=3 cm, BF =2 cmand FC =4 cm. Then find the area (in sq.cm) of
the shaded region.

2, Db’ ABCD 2.8 89 oo, AB _ff_;_,_,_ffﬁ

«ndadn BC o  édm E odafw Few *|§ =

AE=1%0.. BE = 3 d0ab, BF=2 | § =

200 28t FC = 4 20 - =

SAR{ELT) . B, A6 SoHREY

o FTO[0 (390, 08) $08) 6.

Options :

10
3.¥

11

Question Number : 133 Question Id : 9741093258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgée:a



The line 3x + 4y = 12 cuts X, Y-axes at A, B respectively. Pis a point on AB that divides
ABin the ratio 2 : 3 mternally. Then the point P is

XY egor 31 +4y = 12 &0 83 600rr A, B o 8¢ w0daed. AB p P e Dothoi
AB 23 i) 36" woistorr e, v dotoiyP

Options :

(6,2)

1. %

(12, 6)

(12 5)
5’5

3.¢

(6 12)
Bt

Question Number : 134 Question Id : 9741093259 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Ddan, St telens) 5“5332%5"3

If (x, ;) and (xy,y,) are the points of trisection of the line segment intercepted by the
line 3x + 5y = 15 between coordinate axes, then x; + X, +y; +y; =

3x + 5 = 15 &5 26¥0 o eme ddf Ddbdffa 8o oo  (xy, ). (X, )0

et Dochaden wod. X, + X, +y, +y, =



Options :

15
1. %

12
2. %

25
3. %

8
4.

Question Number : 135 Question Id : 9741093260 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DD, 2§D Franges

Which of the following lines makes X-intercept 4 and Y-intercept 5?

308 26BLS X-w0sd Dotto 4, Y-e08620c0 5 0 bcsbcsa 266 N6?

Options :

1% 2x+y=10

- x+2y—14
4x +5y = 20
3. %
5x + 4y = 20

4. &

: MCQ Option Shuffling : Yes



Question Number : 136 Question Id : 9741093261 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3»533%@

The equation of the straight line passing through the origin and 1s inclined at an angle of
150° with the positive side of the X-axis is

2070 Dot thow e X-wg0 (rre 468 & 150° 0 50 269G 2absbo

Options:
L Sae
1. %
y =3x
2. %
e a
Y= \Ex
3.¢
x+y=+3
4, %

Question Number : 137 Question Id : 9741093262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges



The slope of the line which is perpendicular to the line 2x +3y+7=101s

2x 43y +7 =0 o 5% voem &o& 8 e

Options :
-2
1. %
2. % 3
3.4
-3
4, ®

Question Number : 138 Question Id : 9741093263 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St Tevs) &m%@

If the line % +% = 11s put in the form y = mx + ¢, thenm? + ¢* =

§+%= 1 0% G0y = mx + ¢ 608’ gond, m* + ¢ =

Options :

936

1.4 25



61

25
903
25
3. %
613
25
4. %

Question Number : 139 Question Id : 9741093264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§ROBOD ﬁnmgé@

The equation of straight line which makes an angle 210° with the positive direction of

X-axis and making an intercept 3 units on Y-axis is

X-050 ey s 336" 210° S & e, Y eodbapocio V3 i e 2663y

20600
Options:
x+3y+3=0
1. ®
x—v3y—3=0
2. %
x—V3y+3=0
3.v



ﬁh—y+3=0

Question Number : 140 Question Id : 9741093265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3“533%5@

If the lines y — 5= 3(x —4) and y + 6 = 5(x + 2) meets at the point A(a, ),
then a? + p% =

y—5=3(x—4) SoBako y+6=5(x +2) & dwen A(e, f) & dochy 58 S

at+p=

Options :

Ip3=
2
382~
2
5821
¥4
683 =
2
Sub-Section Number : 3

Sub-Section Id : 974109358
Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 9741093266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0PFET Svmgée:@

What is the mean of the following frequency distribution?

& Gob s Y Derasddo Aog) Hocsfdvo Jodd ?

Class 0-6 | 612 | 12-18 | 18-24 24-30
000

]
2

frequency | 12 8 5
31@:;;@50

Options :

10

17

Question Number : 142 Question Id : 9741093267 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability
R0aTFETR &mgﬁ@

The maks obtained by 12 students in mathematics examination has mean 65. Later it was
found that two observations are wrongly taken as 75 and 69 mstead of 58 and 62
respectively. Then the correct mean of their marks 1s

Heded 0888 12 0d .'.’Jm"ﬁgaw Todd AP0 WD 65. S8 oty H030de 584

et 75, 62 3 exder 69 & ST é’m&mldi) 3d08. R\ 8 v

i), 98GR Rk
Options:
37
1. ®
60
2. %
63
3.¢
33
4. %

Question Number : 143 Question Id : 9741093268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR) Sﬂmgﬁ@



If the arithmetic mean of 6. 12. k. 24. 30 and 36 1s 21, thenk =

6, 12, k, 24, 30 o8asw 36 © @036 (00 21 eowd, k=

Options :

24

18

20

Question Number : 144 Question Id : 9741093269 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability
R0AFFET 5‘“&3—’%@



Median of the following frequency distribution s

& 308 3]%@@5 Deraido 0308, Mo

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Sa

Frequency | 4 7 12 16 § 3
m@qo

Options :

29.75

Tad
ad
A
(]

Tad
o
-]
h

Tk
[a—
-2
h

Question Number : 145 Question Id : 9741093270 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR 3“&33%@



If a data contains the natural numbers 1, 2, 3, ..., 8 with frequencies 12,22, 3%,..., 82
respectively, then the median of the data 1s

w8 Opotod’ 1,23, 8 &id dire doaen Sdoare 17,237, 8” iyl

98A &) bowd e Sgrodiy sndfido

Options :

i
1.¢

Lh

Question Number : 146 Question Id : 9741093271 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0PFET Sﬂmgé@



The mode of the following frequency distribution is (approximately)

& S0 :)va@@aﬁ ey eravdo (A&TT)

Class | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
S

2
Ly ]
S
[

frequency 12 16 9

3“#33@&»50

Options :

53.64

52.14

49.26

48.78

Question Number : 147 Question Id : 9741093272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEEVIEE S &m%e‘j



If the mean and median of a frequency distribution are 36 and 44 respectively. then the
mode 1s

w8 3%3?‘.,1){65 QTR0 canéb bJC_S]S.:uo Sn8adn mé}gﬁéo 00 ST 36, 44 eand,

ETaTO¥%0

Options :

40

60
2.V

65

T

Question Number : 148 Question Id : 9741093273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION —B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR &mgﬁ@

If three unbiased coins are tossed simultaneously, then the probability of getting exactly 2
heads 1s

Jrcy QP\ES e 23F0 AHEHV Hdore Totd ooy TIERS

'é}oe.rbﬁé

Options :
1. %



(= e
| oo | wa

4. =

Question Number : 149 Question Id : 9741093274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0PFET Sﬂmgé@

If two fair dice are rolled, what is the probability that the sum of the numbes that show up
add to 87

Goch Dy Srdsedd SGodiped T8 doare Iy Do Ando § waby b
D0t A

Options :



Question Number : 150 Question Id : 9741093275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR &mgﬁ@

What is the probability that a non-leap year should have 53 Mondays?

8 P Do do LR D0\00 08) 53 Fedoirrody 88 ol dozryd Jod?

Options :
1. %

2.% 7
3. %



Communication Ability

SectionId: 97410948
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38

Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109359
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 9741093276 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

Planned or done 1n secret. especially for an illicit purpose

Options :

unplanned

legal
2. %

clandestine
3.¥

open

Question Number : 152 Question Id : 9741093277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



That which lasts for a very short time

Options :

| » Dpermanent

timeless
; « lasting
. ephemeral

Question Number : 153 Question Id : 9741093278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

That which 1s concise and forcefully expressed

Options:

pithy
1.¢

voluntary
2. %

violent

lengthy
4. %

Question Number : 154 Question Id : 9741093279 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

He has a voice that is loud and powerful

Options :
feeble

active

passive
3. %

stentorian
4,

Question Number : 155 Question Id : 9741093280 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

His suggestion is absurd.

(The underlined word means.)

Options :

absolute
1, %

unreasonable
2.9

reasonable

4, %



abstract

Sub-Section Number : 2
Sub-Section Id : 974109360
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 9741093281 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Anfonyms

The antonym of ‘bleak’

Options :

black

grim

bright

dark

Question Number : 157 Question Id : 9741093282 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Anfonyms

The synonym of ‘compassion’

Options :
1.¢



kindness

passion
2. %

compression
3. %

cruelty
4. %

Question Number : 158 Question Id : 9741093283 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The synonym of ‘cheap’

Options :
expensive

costly

easy

inexpensive
4.

Question Number : 159 Question Id : 9741093284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The antonym of ‘condemn’

Options :

disagree
1. %

approve
2. ¢

condone
3. %

conducive
4, ®

Question Number : 160 Question Id : 9741093285 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The antonym of ‘fanatical’ is
Options :

intolerant

fantastic

moderate



tactical

Sub-Section Number : 3
Sub-Section Id : 974109361
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9741093286 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

He English for the last ten years.

Options:

is learning

1. %

learns
2. %

has been learning
3. ¥

Will be learning
4. %

Question Number : 162 Question Id : 9741093287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

The author the story just now.



Options :

have completed
1. %

has been completed

completes

has completed

4.

Question Number : 163 Question Id : 9741093288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)
Attend to this work immediately.
(Rewrite in passive voice)

Options :

Let us attend to this work immediately.

He has attended to this work imumediately.

Let this work be attended to immediately.
3.¢¥

4. ®



This work was attended to immediately

Question Number : 164 Question Id : 9741093289 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

Who wrote My Experiments with Truth ?

(Rewrite in passive voice)

Options :

By whom is My Experiments with Truth written?

By whom was My Experiments with Truth written?

2. ¥

My Experiments with Truth written by who?

By whom has My Experiments with Truth written?

Question Number : 165 Question Id : 9741093290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)



No sooner the station than the train arrived.

Options:

as I reached

have I reached

than I reached

had I reached
4, &

Sub-Section Number : 4
Sub-Section Id : 974109362
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 9741093291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

Though the boss 1s strict, he knows how to his subordinates.

Options :

get over with

get along with
2. ¢

get away with
3. %



get out with

Question Number : 167 Question Id : 9741093292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Phrasal Verbs and Idioms

The controller of Examinations decided to the examimations due to the strike.

Options :

put off

put of

put in

put out

Question Number : 168 Question Id : 9741093293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Phrasal Verbs and Idioms

Despite their hostility for long, they decided fo bury the hatchet and become friends

again. The underlined idiom means.



Options :

To oppose tooth and nail.
1. %

To reconcile after a conflict.
2.

To end their friendship.
3. %

To sharpen their knives.
4. %

Question Number : 169 Question Id : 9741093294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Phrasal Verbs and Idioms

[ went to principal’s chamber to protest, but I got cold feet at the last moment. The

underlined 1diom means
Options :
nervous and did not protest.

1.4

bold and protested.

chills due to cold.

cough and cold.



Question Number : 170 Question Id : 9741093295 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

When he got the letter of appointment, he was on cloud nine.

The underlined 1diom means.

Options :

He felt disappointed.

1. %

He felt like flying.

He felt extremely happy.
3.¢

He felt it raised.

Sub-Section Number : 5
Sub-Section Id : 974109363
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 9741093296 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

I read New York Times online every day.

Options :

d



the

2.¥
an
3. %
one
4. %

Question Number : 172 Question Id : 9741093297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

The Pacific Ocean 1s deepest of all the oceans.
Options:
a
1.
an
2. %
the
3.¢
with
4. %

Question Number : 173 Question Id : 9741093298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

The Waste Land is a poem T.S. Eliot.

Options :

011

off

n

Question Number : 174 Question Id : 9741093299 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He has been working in the University 2010.

Options :

from

since
2.9



for

after

Question Number : 175 Question Id : 9741093300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He hit him hard the spur of the moment and regretted later.

Options:

in

with

o1

at

Sub-Section Number : 6
Sub-Section Id : 974109364
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 9741093301 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology



It is a program in charge of rejecting unwanted incoming connection requests.

Options :
Hacker

1. %

Firewall
2. ¢

Flash

Browser
4, ®

Question Number : 177 Question Id : 9741093302 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology
Which of the following is used by bankers to process large volumes of cheques and
drafts?
Options :

Optical Character Recognition Scanner.

1. %

Optical Mask Reader Scanner.
2. %

Magnetic Ink Character Recognition reader.
3.v¥



Barcode reader.

Question Number : 178 Question Id : 9741093303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which of the following is secondary memory?

Options :

Cache memory
1. %

Non-volatile ROM
2. %

Volatile RAM
3. %

Magnetic memory
4,

Question Number : 179 Question Id : 9741093304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

The highest memory is

Options:

Terra Byte

1. %



, » Geop Byte

Peta Byte
3. %

Giga Byte

Question Number : 180 Question Id : 9741093305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

MIME stands for

Options:

Multipurpose Internal Memory Exchange.

Multipurpose Intra Memory Education.

Multipurpose Internet Mail Exchange.

Mass Index of Memory Exchange.

Sub-Section Number : 7
Sub-Section Id : 974109365
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9741093306 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

A record of the money that other people and business owe you.

Options :

Accounts Receivable

1.4

Capital
2. %

Accounts Payable
3. %

Accounts closed

Question Number : 182 Question Id : 9741093307 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

Expenses such as utilities, rent and employee salaries are considered as

Options :

- Variable costs.

Gross mncome.
2. %

Net Income.

Fixed costs.



Question Number : 183 Question Id : 9741093308 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

KPI stands for

Options :

o Key Prints Information.

Key Performance Indicators.
2. ¥

Knowledge performance Indicators.
3. %

Kinetic permission Indication.
4. %

Question Number : 184 Question Id : 9741093309 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

Defining capability that distinguishes a company from its competitors
Options :

Ability to be changed in size.

Core competency.
2. ¥



Lack of competency at the core.

Performance Received.

Question Number : 185 Question Id : 9741093310 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

CMS stands for
Options :

Centimeters

Content Monitoring system.

Content Management system.

Conflict Management service.

Sub-Section Number : 8
Sub-Section Id : 974109366
Question Shuffling Allowed : No

Question Id : 9741093311 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (186 to 190)
Question Label : Comprehension

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1



A few days ago, I ran into an old friend who 1s currently one of the officials deciding
India’s economic and financial policies. He asked, ‘And so, how is IIT doing?” I
responded with ‘Not so well actually. Your market friendly policies have forced us to
raise the fee. So, we have 50% fewer Ph.D. applicants this year.” Not batting an eyelid,
he shot back, “obviously your Ph.D. students don’t have any market value.” Such
people who look at everything as consumer products classify higher education as non-
merit goods. Non-merit goods are those where only the individual benefits from

acquiring them and not the society as a whole.

Sub questions

Question Number : 186 Question Id : 9741093312 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The author of the passage is

Options :

v someone working for IIT.

someone working for the government.
2. %

someone related to students” organization.
3. %

social activist in educational field

Question Number : 187 Question Id : 9741093313 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The friend of the author is

Options :

A technocrat.

, » Analumnus of IIT.

A policy maker in the government.
3.¢¥

An educationist.
4, ®

Question Number : 188 Question Id : 9741093314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The author thinks increasing the fee has resulted in :

Options :

more admissions into Ph.D.

less number of applications for Ph.D.
2.

increased number of applications for Ph.D.
3. %

hasn’t made any difference.



Question Number : 189 Question Id : 9741093315 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The friend of the author is of the opinion that

Options :

education benefits neither society nor individual.

education benefits the society only.

education benefits both the society and the individual.
3. %

education benefits the individual only.
4. ¢

Question Number : 190 Question Id : 9741093316 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The express ‘not batting an eyelid’ means
Options :

not blinking the eye.

not telling a lie.
2. %



not telling the truth.

3. %

not showing any concern.
4.
Sub-Section Number : 9
Sub-Section Id : 974109367
Question Shuffling Allowed : No

Question Id : 9741093317 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (191 to 195)
Question Label : Comprehension

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

These gentlemen brought their respect for the law with them and proclaimed it loudly
while m the very act of breaking the law. Theirs was the law of slavery. The law of free
speech and the law for the protection of public meetings they trampled underfoot, while
they greatly magnified the law of slavery... No right was deemed by the fathers of the
Government more sacred than the right of speech. It was in their eyes, as i the eyes of
all thoughtful men, the great moral renovator of society and government. Daniel
Webster called it a homebred right, a fireside privilege. Liberty is meaningless where
the right to utter one’s thoughts and opinions has ceased to exist. That, of all rights. is
the dread of tyrants. It is the right which they first of all strike down. They know its
power. Thrones, dominions, principalities, and power, founded in justice and wrong,
are sure {0 tremble, if men are allowed to reason of righteousness, temperance, and of a
judgment to come in their presence. Slavery cannot tolerate free speech. Five years of
its exercise would banish the auction block and break every chain in the South. They

will have none of it there, for they have the power. But shall it be so here?



Sub questions

Question Number : 191 Question Id : 9741093318 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

The author of the passage is against

Options:

Freedom of expression.

Law of slavery.

Liberty.

Temperance.

Question Number : 192 Question Id : 9741093319 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

What 15 ‘the great moral renovator of society and government’ according to the

constitutional experts?

Options :

Injustice and wrong.
1.%



Thrones.
=

Principalities.
3. %

Right of speech.
4. %

Question Number : 193 Question Id : 9741093320 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

What is the synonym for ‘tyrant’?

Options :

Democrat

Dictator

Slave

King
4. ®

Question Number : 194 Question Id : 9741093321 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2



Who called freedom of speech ‘homebred right” ?

Options :

The author.

The southerners.

Daniel Webster.
3.¢¥

The gentlemen.

Question Number : 195 Question Id : 9741093322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

When does liberty become meaningless?

Options:

If the law of slavery is not imposed.

If there are no restrictions on speech.
2. %

If there is excess of liberty.
3. %

4.



If one is not allowed to express one’s thoughts and opinions.

Sub-Section Number : 10
Sub-Section Id : 974109368
Question Shuffling Allowed : No

Question Id : 9741093323 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (196 to 200)

Question Label : Comprehension

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



The two teachers who helped Gandhiji to found Sevagram were previously associated
with Tagore’s Indian Centre for International Education at Shantiniketan. There, the
great poet, artist, and international lecturer, conceived and brought to birth a plan of
education completely short of the super facilities of western pedagogy. Nothing was
supplied unless it contributed the immediate extension of the humanity of the students.
Tagore’s ‘Invitation to the world” was based upon certain tangible educational goals.
First, to concentrate m Shantiniketan, in the midst of the ashram educational canopy
(ashram originally meant ‘work” of a practical nature) the different cultures of the East,
especially those having their origin in India or sheltered and fostered there. Secondly,
to lay in Shantmiketan and in the rural Reconstruction Department in Surul (named
Stiniketan), the foundations of a happy, contented and human life for the villagers. In
the rural Institute, practical work is done in farm and field i addition to classtoom
training. Experiments on useful lines go on constantly. Tagore’s philosophy of a
complete life thus made him link up vocational training with mental development and a
culture that is broad-based on the whole human experience. Third. to seek to establish
a living relationship between East and West, to promote inter-cultural and mter-racial
amity and understanding, and to fulfil the highest mission of the present age—the

unification of mankind.

Sub questions

Question Number : 196 Question Id : 9741093324 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Tagore’s Indian Centre for International Education was at

Options :



Sevagram.
1. %

Rural Reconstruction Department.

Shantiniketan.
3.

Poona.
4, %

Question Number : 197 Question Id : 9741093325 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Which of the following statements are true?
a. Tagore was interested in western pedagogy.
b. Tagore’s focus in education was on practical work.
c. Tagore’s concept of education aimed at fulfilling the highest mission of the
unification of mankind.

d. Tagore aimed at a happy, contented and human life for the cities

Options :
a and b

b and ¢
2.

¢ andd



a and d

Question Number : 198 Question Id : 9741093326 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Tagore’s Rural Reconstruction Department was interested in

Options :

Strict class room training alone.

Western culture.

Classroom training as well as practical work in farms.

Education without goals.

Question Number : 199 Question Id : 9741093327 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Tagore’s concept of education is

Options:
1.4



Holistic.

Partial.

Theoretical.

Abstract.

Question Number : 200 Question Id : 9741093328 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Tagore wanted to promote

Options:

- Gulf between East and West.

, « Disintegration of mankind.

Inter-cultural and inter-racial amity.
3.

Parochial attitude.





